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2 0 12.
ELECTRONICS E
( Microprocessor and its.Appl?éati()n )
: PAPER-— ELC-301
[ Theory] - s

Full Marks : 50

‘Time :2 hours - o
Answer Q. No. 1 and any three questions from the rest
: Theﬁgurés in the right-hand{mlargin indicate marks

Candidates are required to give-their answers in their
‘ own words as far as practicable

Hllustrate the answers wherever necessary
1. (a) Draw the block diagram. of the. buxlt-m clockof

8085 pP.

(b) How the vector address fora software interrupt is
determined ?

~(c) What the instruction DAD H stands for ?
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(2)

(D Exehange the contents of DE register pair with.
that of HL regxstgr palr, using PUSH and POP
: mstructtons. LR

’, Lt oA

. (e) If the segment address is 1005 H and the offset is

, 5555H then calgulate the physxcal ad@ress 2x5

(a) Draw the flmctlonal block dlagram of the 8085 pP
Compare"the 8085 and 8086 uPs e :

amdntiot J:_.m 7 ,
(b) What s the function of ALE and how does it
e fun(:tion? ’ : (5+2)+(l+2)

: What do you mean by the hardware software

mterrupts available wnth 8085 CPq ? Describe the.
functional behaviour of the hardware ;nterruptst:’ Why -

. the pins for the hardware i interrupts ofithe 8085 1C chip

are labelled with number contaimng afractional decimal

\

' number Lo T R 2+6+2

(a) Write an 8085 assembly- language program to

perform a panty check on an 8-bit word in locatxonr

5000 H. If the panty is edd, store DDH in Jocation

5500 H. However, if the parity xseven, store EEH
. in locatlon 5500H. <. i
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(3)

(b) ‘Write an 8085 subroutine’ to’compute Y=4X2
Assume that X is an:8-bit linsigned number.
Also assume that the result: ¥ =4X? can be
accommodated in 16 bits. Store the resultin

ov.registerpair H, L. b sy ‘

(c) At whathighest menﬁirﬂocéilon can the SP be
mmahzed ? : 4+ 4+2

R ,z: ;/,:"ss

(a) Draw the block diagram of 8255 A. Show the
control word format for I/O mode operatxon of

8255A
.(b) .
4, o
: 8255A
’As“*b—'
N 4
* e
in
B

- Determine the port addresses for port A, port B,
port C and control reglster of the above ﬁgure
(5+3)+2
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(4)

6. (a) Whatis meant by serial and parallel interface
standards ? Describe IEEE 488 standard.

(b) What is current loop interface ? State its
advantage.

(c) How the error checks are made ‘in data
communication? - R+2)+@2+1)+3

[ Internal Assessment : 10 Marks ]
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